TAMNRTY » hO (KDOER & R #E)

ROFHEE LAI, BN 25 x2]
(1) 22(3z+1)—=z(2x+5) (2) 3ala—4b)+6a(2b +a)

ROREBMUABIV,  BENLHRE 28X3]
1) (x—4)Ny—T7) 2) (2a+1)3b—1) (3) (@—2b)2c+3d)

(3] ROREEBIL AT, [HeRHRERE 258x2]
(1) (@+1)a—2b-2) (2) (x—2y+3)3r—y)

(2] RORERBUAIV,  HENRERE 288 X5)
(1) (@—T7)a+8) 2) (Bb+3)b—12) 3) U+z)(—2+=z)

(5] ROREEBIL AT\,  [HERHRERE 258 x3]
1) (z+6) @ (=177 3 (z+3)Me—3)



(6] ROREEBIL AT\, [HERHIRERE 255x6]

1) (2c+1)2—1) @ (dz+1) 3) (2 —3)
1 2
4) (3z—1)3z —4) (5) (z+5y)z—Ty) 6) <2¢—Eb>

(7] RORERBUAIV,  EEORERE 288X 4)
1) @+y+1Dz+y+3) @ @—y+17

3) (@+b—1)Na+b—4) 4) (@a+2b+1)a+2b—1)

ROXERBAELU BRIV, [BENLHERE 28 %3]
(1) mzx—my 2) 2a’+a (3) 3ax+6bay

[9] ROAERBAMRL 23\, [BFHIGEEE 2R %3]

(1) a*+18a+81 (2) x2—x+% (3) 64—t*



0] ROREEHAMURT,  DREORERE 25 X6]
1) z*4+9zr+18 2) z2+13x+36 (3) z*—5z+4

4) z%2—10z+21 (5) z2—Tz—8 6) z’4+4z—12

ROREHBOEL BRIV, [BENLEE 2R X2]
1) (@+3°+7z+3)+10 2) (@a—4)*—3a—4)—18

CSIUT, ROFEZLAIV, [BMENLRGPERS 2R X4]
(1) 25°—25x%23 (2) 48x52 (3) 100%—99° (4) 51?

ROAXDEERDZ I, [BFENLRRAREZS 28 X%2]
1) z=17 D&% 2>—4z—21 DIE

2 z=21,y=03DL X z%+62y+9%2 DIE



EE D 4 DOBEIIOWT, BRROEHL 2 BB IIKIVERORD» SR/NDEER L
2BBINIVEHOEZ OV, IN6DEET D 4 DDBBOMIFLI LY &
T, TOZELERHLRIV, (BENBRAPEZS 3R]

EOEDESIZ, #itAa m, A0 m ORAHOLHD

rTo2bmiz-
EFHVIZ, BN cm OENHY T, BOFREESLE I 40 m
AWORDES % L m, EOEEE Sm* LT2LE, [ m !

S=cl L7BIELEFHLAEIV, — .
[(BEENRREPELS 3R]

[16] ROFICTESRIPNILEREENIT, HOLARBD 2FTIITHITE, YALZERK
ENT I L ONRD L TN, (B2 RGPEZS 2R X2]
(1) 168 2) 90



